
 

 P. T. O.  

Roll No. ...................................  

D–130 

M. Com. (Fourth Semester) (ATKT) 

EXAMINATION, May-June, 2020 

(Optional—Specialization) 

[Optional Group (D) : Taxation and Accounting] 

Paper D—II 

INDIRECT TAX 

Time : Three Hours ]  [ Maximum Marks : 80 

[Minimum Pass Marks : 16 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 
 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  
(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 
(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 
 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 
Choose the correct answer : 

1- fuEufyf[kr esa ls dkSu&ls vizR;{k dj gSa \ 
(i) fuxe dj 
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(ii) dsUnzh; mRikn ‘kqYd 
(iii) lhek ‘kqYd 
(iv) /ku dj 
¼v½ (i) ,oa (ii) 
¼c½ (ii) ,oa (iii) 
¼l½ (i), (ii) ,oa (iii) 

¼n½ mi;qZDr lHkh 
Which of the following are indirect taxes ? 

(i) Corporation tax 

(ii) Central Excise Duty 

(iii) Customs Duty 

(iv) Wealth Tax 

(a) (i) and (ii) 

(b) (ii) and (iii) 

(c) (i), (ii) and (iii) 

(d) All of the above 

2- o”kZ 2018&19 esa jktLo dh ǹf”V ls fuEufyf[kr djksa dks Øe ls 
fu/kkZfjr dhft, % 

(i) dsUnzh; mRikn ‘kqYd 

(ii) lhek ’kqYd 
(iii) fuxe dj 
(iv) vk;dj 
¼v½ (i), (ii), (iii) ,oa (iv) 
¼c½ (iv), (iii), (i) ,oa (ii) 
¼l½ (iii), (i), (ii) ,oa (iv) 

¼n½ (iii), (iv), (i) ,oa (ii) 
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Determine  the following taxes in order of revenue in the 

year 2018-19 : 

(i) Central Excise Duty 

(ii) Customs Duty 

(iii) Corporation Tax 

(iv) Income Tax 

(a) (i), (ii), (iii) and (iv) 

(b) (iv), (iii), (i) and (ii) 

(c) (iii), (i), (ii) and (iv) 

(d) (iii), (iv), (i) and (ii) 

3- mRikn ‘kqYd ;ksX; eky dk vFkZ gS] ,slk eky tks % 

¼v½ Hkkjr esa mRikfnr gks 

¼c½ dkj[kkus esa fufeZr gks 

¼l½ mRikn ‘kqYd vf/kfu;e esa ‘kkfey gks 

¼n½ mRikn VSfjQ ,DV dh lwph esa ‘kkfey gks 

Excisable goods means, such goods which is : 

(a) Manufactured in India 

(b) Manufactured in Factory 

(c) Included in Excise Duty Act 

(d) Included in the schedule of Excise Tariff Act 
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4- ------------------- mRiknu izfØ;k ugha gSA 

¼v½ vkyw ds fpIl cukuk 

¼c½ xUus dks dqpyuk 

¼l½ pk; dks feykuk] Nk¡Vuk ,oa iSfdax djuk 

¼n½ iqjkus Vk;jksa dh fjVªsfMax djuk 

............. is not a manufacturing process. 

(a) Making a potato chips 

(b) Crushing a sugarcane 

(c) Tea mixing, sorting and packing 

(d) Retrading of old tyres 

5- dsUnzh; mRikn ‘kqYd esa vyx&vyx ifjljksa ds fy, vko’;d gS % 

¼v½ dsoy ,d iath;u 

¼c½ vyx&vyx iath;u 

¼l½ dsoy eq[; dkj[kkus dk iath;u 

¼n½ vyx&vyx jkT;ksa esa iath;u 

In central excise duty requires different premises : 

(a) Only one registration 

(b) Different registration 

(c) Only main factory building registration 

(d) Separate registration in each state 
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6- mRikn ‘kqYd dh x.kuk dk vk/kkj gS % 

¼v½ laO;ogkj ewY; 

¼c½ vf/kdre QqVdj ewY; 

¼l½ VSfjQ ewY; 

¼n½ mi;qZDr lHkh 

Basis of calculate of Excise Duty : 

(a) Transaction value 

(b) Maximum Retail Price 

(c) Tariff value 

(d) All of the above 

7- dsUnzh; mRikn ‘kqYd dh ǹf”V ls oLrq ds laO;ogkj ewY; esa lfEefyr 

u gksus okyh en % 

¼v½ dPpk eky izkIr djus dh ykxr 

¼c½ cká HkkM+k ,oa ekxZLFk chek 

¼l½ fMtkbu ,oa bathfu;fjax O;; 

¼n½ iSfdax O;; 

Item not to be included in the assessable value of the goods 

from the point of view of Central Excise : 

(a) Cost of handling of raw material 

(b) Outward freight and transit insurance 

(c) Design and Engineering Expenses 

(d) Packing Expenses 
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8- dFku (I) % {k; ,oa LØSi dks ges’kk mRikn ;ksX; eky ekuk tkrk gSA 

dFku (II) % lHkh uewuksa ij mRikn ‘kqYd] fu%’kqYd fn;s tkus ij Hkh 

ns; gksrk gSA   

¼v½ dFku (I) ,oa dFku (II)] nksuksa lgh gSaA 

¼c½ dFku (I) lgh gS] ijUrq dFku (II) lgh ugha gSA 

¼l½ dFku (II) lgh gS] ijUrq dFku (I) lgh ugha gSA 

¼n½ dFku (I) ,oa dFku (II)] nksuksa xyr gaSA 

Statement (I) : Wastes and scrap are always treated as 

excisable goods. 

Statement (II) : Excise duty is payable on all sample, even 

if given free. 

(a) Statement (I) and Statement (II), both are correct. 

(b) Statement (I) is correct, but statement (II) is not 

correct. 

(c) Statement (II) is correct, but statement (I) is not 

correct. 

(d) Statement (I) and Statement (II), both are not correct. 

9- ‘kqYd tks yxk;k ;k Hkqxrku u fd;k x;k gks ¼;k xyrh ls ftldh 

izfriwfrZ dj nh x;h gks½ ds fy, izHkk;Z O;fDr ij ,d dsUnzh; mRikn 

vf/kdkjh dks uksfVl nsuk gksrk gS % 

¼v½ lqlaxr frfFk ls 3 ekg ds Hkhrj 

¼c½ lqlaxr frfFk ls 6 ekg ds Hkhrj 

¼l½ lqlaxr frfFk ls 9 ekg ds Hkhrj 

¼n½ lqlaxr frfFk ls 12 ekg ds Hkhrj 
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A Central Excise officer may serve notice on the person 

chargeable with the duty which has not been levied or paid 

(or to whom the refund has been erroneously made) within : 

(a) 3 months from the relevant date 

(b) 6 months from the relevant date 

(c) 9 months from the relevant date 

(d) 12 months from the relevant date 

10- lhek ‘kqYd dk vk/kkj gS % 

¼v½ oLrqvksa dk vk;kr 

¼c½ oLrqvksa dk fu;kZr 

¼l½ oLrqvksa dk vk;kr ;k fu;kZr 

¼n½ oLrqvksa dk mRiknu 

Basis of customs duty is : 

(a) Import of goods 

(b) Export of goods 

(c) Import or Export of goods 

(d) Production of goods 

11- ykHkkFkhZ Lokeh dk vFkZ fdlh Hkh O;fDr ls gS % 

¼v½ ftldh vksj ls eky dk vk;kr ;k fu;kZr fd;k tk jgk gSA 

¼c½ tks vk;kr ;k fu;kZr fd;s tk jgs eky ij izHkkoh fu;U=.k 

j[krk gSA 

¼l½ mi;qZDr ¼v½ vFkok ¼c½ 

¼n½ mi;qZDr esa ls dksbZ ugha 
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Beneficial owner means any person : 

(a) On whose behalf the goods are being imported or 

exported. 

(b) Who exercises effective control over the goods being 

imported or exported. 

(c) (a) or (b) above 

(d) None of the above 

12- vk;kfrr oLrqvksa ds fy, fuEufyf[kr esa ls dkSu&lh ,d dj;ksX; 

?kVuk gS \ 

¼v½ lhek ‘kqYd cUnjxkg ij vk;kfrr lkeku mrkjuk 

¼c½ Hkkjrh; izknsf’kd ty esa izos’k dh frfFk 

¼l½ izfo”V fcy ds izLrqfr dh frfFk 

¼n½ og frfFk ftl ij eky lhek ‘kqYd dh ck/kk dks ikj djrk gSA 

Which of the following is a taxable event for imported  

goods ? 

(a) Unloading of imported goods at the customs port. 

(b) Date of entry into Indian territorial waters. 

(c) Date of presentation of bill of entry. 

(d) Date on which the goods cross the customs barrier. 

13- lhek ‘kqYd mís’; ds fy, eky dk dj&fu/kkZj.k ;ksX; ewY; gksrk gS % 

¼v½ okLrfod ewY; 

¼c½ fu;e&10 esa okLrfod ewY; ,oa lek;kstu 

¼l½ ekuk x;k ewY; 

¼n½ ekud ewY; 
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Assessable value of goods for customs duty purposes is : 

(a) Actual value 

(b) Actual value plus adjustment in Rule-10 

(c) Deemed value 

(d) Standard value 

14- ,d lIrkg ds fy, teZuh esa jgus ds ckn Hkkjr ykSVus okys O;fDr dks 

fcuk fdlh lhek ‘kqYd ds Hkqxrku ds ------------ ` rd dk eky ykus dk 

vf/kdkj gSA 

¼v½ 50]000 

¼c½ 25]000 

¼l½ 12]000 

¼n½ mi;qZDr esa ls dksbZ ugha 

A passenger returning to India after stay in Germany for one 

week is entitled to bring goods upto ` ........, without 

payment of any customs duty. 

(a) 50,000 

(b) 25,000 

(c) 12,000 

(d) None of the above 

15- vk;kr eky lwph izLrqr dh tkrh gS % 

¼v½ vk;krd }kjk 

¼c½ izHkkjh O;fDr }kjk 

¼l½ ,ts.V }kjk 

¼n½ ifjogu dEiuh }kjk 
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Import manifest produced by : 

(a) Importer 

(b) Person-in-charge 

(c) Agent 

(d) Transporter company 

16- lhek ‘kqYd vf/kfu;e] 1962 ds rgr buesa ls dkSu&lk fudVorhZ 

izkf/kdkjh ugha gS \ 

¼v½ lhek ‘kqYd vk;qDr 

¼c½ lhek ‘kqYd ds eq[; vk;qDr 

¼l½ vk;qDr ¼vihy½ 

¼n½ lgk;d vk;qDr lhek ‘kqYd 

Which of these is not an adjudicating authority under 

Customs Act, 1962 ? 

(a) Commissioner of Customs 

(b) Principal Commissioner of Customs 

(c) Commissioner (Appeals) 

(d) Assistant Commissioner of Customs 

17- vk;kr ds lEcU/k esa fo’ks”k vkfFkZd {ks= }kjk ns; jkf’kikru ‘kqYd gS % 

¼v½ fujad 

¼c½ lhek ‘kqYd dk 5% 

¼l½ lhek ‘kqYd dk 7.5% 

¼n½ lhek ‘kqYd dk 10% 
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Anti-dumping duty payable by a special economic zone in 
respect of an import is : 

(a) Nil 

(b) 5% of the customs duty 

(c) 7.5% of the customs duty 

(d) 10% of the customs duty 

18- dksbZ O;fDr lhek ‘kqYd vf/kfu;e ds rgr fuiVku vk;ksx esa vkosnu 

dj ldrk gS % 

¼v½ dkj.k crkvks uksfVl tkjh gksus ls igys 

¼c½ LFkxu vkns’k ls igys 

¼l½ vihy nk;j djus ls igys 

¼n½ mi;qZDr esa ls dksbZ ugha 

A person can make an application to the Settlement 

Commission under Custom Act ? 

(a) Before issue of show cause notice 

(b) Before adjudication 

(c) Before filing appeal 

(d) None of the above 

19- eky ds fu;kZr ds fy, ftu ij fofuekZ.k esa iz;qDr vk;kfrr lkexzh 

ij nks”kiw.kZ NwV nh tkrh gS % 

¼v½ eky dk fu;kZr ewY; vk;kfrr lkexzh ls nqxqus ls vf/kd gksuk 

pkfg,A 

¼c½ foØ; izfØ;k dh olwyh fu;kZrd }kjk fofufnZ”V le;kof/k ds 

Hkhrj gh dh tkuh gksxhA 
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¼l½ nkok ds lR;kiu ds fy, izkf/kdr̀ vf/kdkjh }kjk dkj[kkuk dk 

fujh{k.k djuk gksrk gSA 

¼n½ C;kt ds fcuk fiNyk Hkqxrku nks ekg dh vof/k rd vuqer 

gksrk gSA 

For export of goods on which drawback is allowed on 

imported materials used in manufacture : 

(a) Export value of goods has to be more than double the 

value of imported materials.  

(b) Realisation of Sale proceeds has to be effected by the 

exporter within a specified time. 

(c) The manufactory has to be inspected by authorized 

officer for verification of claim. 

(d) Drawback payment without interest is allowed upto a 

period of two months. 

20- lhek ‘kqYd ds lanHkZ esa loksZPp izkf/kdkjh laLFkk gS % 

¼v½ foŸk eU=h 

¼c½ vizR;{k djksa dk cksMZ 

¼l½ dsUnzh; mRikn ,oa lhek ‘kqYd cksMZ 

¼n½ eq[; vk;qDr 

Top most authority in the reference of customs duty is : 

(a) Finance Minister 

(b) Board of Indirect Taxes 

(c) Central Board of Excise and Customs 

(d) Chief Commissioner 
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 [k.M&c  
(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nhft,A izR;sd iz’u 2 vadksa dk gSA 

izR;sd iz’u dk mŸkj nks ;k rhu okD;ksa esa nhft,A 

 Attempt any eight questions. Each question carries 

2 marks. Answer to the question give in 2 or 3 sentences. 

1- vizR;{k dj ls vkidk D;k vk’k; gS \ 

What do you mean by Indirect Tax ? 

2- dsUnzh; mRikn ‘kqYd vf/kfu;e ds vUrxZr fuekZrk dh nks izeq[k 

fo’ks”krk,¡ crkb,A 

State two main features of the manufactures under the 

Central Excise Act. 

3- lsuosV ØsfMV D;k gS \ 

What is CENVAT Credit ? 

4- dj&fu/kkZj.k ;ksX; ewY; dh x.kuk esa ifjogu O;; dk izHkko crkb,A 

State the effect of transportation expenditure in 

determination of assessable value. 

5- tkWc odZ ij fufeZr eky ds ewY;kadu dk lw= fyf[k,A 

Write down the formula of evaluation of goods 

manufactured on the Job work. 
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6- mRikn ‘kqYd lEcU/kh ekeyksa esa iqufoZpkj ls lEcfU/kr dksbZ nks 

ifjfLFkfr;k¡ crkb,A 

State any two circumstances relating to revision in excise 

related matters. 

7- izos’k fcy ls vkidk D;k vfHkizk; gS \ 
What do you mean by Bill of Entry ? 

8- lkW¶Vos;j VsDuksykWth ikdZ dh nks izeq[k fo’ks”krk,¡ crkb,A 
State two salient features of software technology park. 

9- ^izfrcU/kkRed vk;kr* ls vkidk D;k vk’k; gS \ 

What do you mean by ‘Restricted Import’ ? 

10- dsUnzh; lhek ‘kqYd vf/kfu;e ds vUrxZr os dkSu ls vijk/k gSa] ftuds 
fy, fdlh ds fo#) ltk dh dk;Zokgh dh tk ldrh gS \ 
What are the offences under the Central Customs Act for 
which punishment can be proceeded against ?  

 [k.M&l  
(Section—C) 

y?kq mŸkjh; iz’u 
(Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nhft,A izR;sd iz’u 3 vadksa dk gSA 
izR;sd iz’u dk mŸkj yxHkx 75 ‘kCnksa esa nhft,A 

 Attempt any eight questions. Each question carries  
3 marks. Answer the question in about 75 words. 

1- ßmRikn ‘kqYd eky ij yxk;k tkrk gSAÞ Li”V dhft,A 

“Excise duty is levied on goods.” Explain. 
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2- dsUnzh; mRikn ‘kqYd vf/kfu;e ds vUrxZr mRiknu ls D;k vfHkizk;  

gS \ mnkgj.k lfgr Li”V dhft,A 

What is meant by manufacture under the Central Excise 

Act ? Clear with example. 

3- mRiknu ‘kqYd ;ksX; eky ds ewY;kadu ds le; iSfdax dh ykxr dks 

‘kkfey djus lECkU/kh izko/kkuksa dk fo’ys”k.k dhft,A 

Analyse the provisions regarding inclusion of cost of 

packing at the time of valuation of excisable goods. 

4- vf/kdre QqVdj ewY; vk/kkj dh eq[; ckrsa crkb,A 

State the main points regarding value based on maximum 

retail price. 

5- fdu ‘kqYdksa ds lEcU/k esa lsuosV ØsfMV fn;k tkrk gS \ 

In respect of which duties CENVAT Credit is allowed ? 

6- dsUnzh; mRiknu ‘kqYd vf/kfu;e ds vUrxZr mRiknu ‘kqYd dh okilh 

¼fjQ.M½ dh izfØ;k dk o.kZu dhft,A 

Describe the procedure of Refund of Excise Duty under the 

Central Excise Act. 

7- lhek ‘kqYd ds lEcU/k esa fo’ks”k vfrfjDr lhek ‘kqYd dh oS/kkfud 

fLFkfr Li”V dhft,A 

Clear the legal position regarding special Additional 

Customs Duty in the reference of Customs Duty. 
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8- lhek ‘kqYd vf/kfu;e ds vUrxZr vk;kfrr eky dh fudklh ds 

izko/kku le>kb,A 

Explain the provisions for clearance of imported goods under 

Customs Act. 

9- lhek ‘kqYd vf/kfu;e esa oLrqvksa ds vfu;fer fu;kZr ds vijk/k ds 

fy, D;k izko/kku gSa \ 

What is the provision for the offence of improperly export of 
goods in the Customs Act ? 

10- ,d tgkt 6 vDVwcj] 2018 ¼’kfuokj½ dks cUnjxkg ij vkrk gS] fcy 
dk izos’k 12 vDVwCkj] 2018 dks ntZ fd;k x;k gSA foyEc izHkkj dk 
fu/kkZj.k dhft,A 
A ship arrives at port on 6th October, 2018 (Saturday). Bill 
of Entry filed on 12 October, 2018. Determine late charges.  

 [k.M&n  
(Section—D) 

nh?kZ mŸkjh; iz’u 
(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A xf.krh; izdf̀r ds iz’uksa dks NksM+dj 
izR;sd iz’u dk mŸkj yxHkx 150 ‘kCnksa esa nhft,A izR;sd iz’u 
5 vadksa dk gSA 

 Attempt all questions. Each question except numerical 
nature is to be answered in about 150 words. Each 
question carries 5 marks. 

1- dsUnzh; mRikn ‘kqYd vf/kfu;e ds vUrxZr ^fuekZrk* dkSu gS \ 
mnkgj.kksa lfgr le>kb,A 
Who is manufacturer under Central Excise Act ? Describe 
with examples. 



 [ 17 ] D–130 

 P. T. O. 

vFkok 
(Or) 

dsUnzh; mRikn ‘kqYd ds vUrxZr mRiknksa ds oxhZdj.k ds fu;eksa ,oa 

lkekU; fl)kUrksa dh o;k[;k dhft,A 

Explain the general principles and rules for classification of 

products under central excise duty. 

2- dsUnzh;  mRikn ‘kqYd ds vUrxZr ^laO;ogkj ewY;* dh vo/kkj.kk dks 

le>kb,A 

Explain the concept of ‘Transaction value’ under Central 

Excise Act. 

vFkok 

(Or) 

mRiknu ‘kqYd ds fdu vkns’kksa ds fo#) dfe’uj ¼vihy½ ds ;gk¡ 

vihy dh tk ldrh gSA vihy dh dk;Zfof/k dk o.kZu dhft, rFk 

,slh vihy ds fuiVkjs ds lEcU/k esa dfe’uj ¼vihy½ ds vf/kdkjksa dk 

o.kZu dhft,A 

Against what orders of excise duty appeal can be filed to 

Commissioner (Appeals) ? Describe the procedure of appeal 

and state the powers of Commissioner (Appeals) in 

disposing of such appeal. 

3- lhek ‘kqYd dh x.kuk ds fy, dj&fu/kkZj.k ;ksX; ewY; Kkr djus dh 

fof/k le>kb,A 

Discuss the method of computation of assessable value for 

calculation of customs duty. 
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vFkok 
(Or) 

dksphu dk ,d vk;krd vesfjdk ds ,d fu;kZrd ls eky vk;kr 
djrk gSA eky ys tkus okyk tgkt eqEcbZ igq¡prk gSA canjxkg ls 
igys vkSj ogk¡ ls eky dksphu cUnjxkg rd igq¡pk;k tkrk gSA  

lhek ‘kqYd vf/kfu;e] 1962 ds rgr vk;kfrr eky ds ewY;kadu ;ksX; 
ewY; dks fuEufyf[kr fooj.kksa ls fu/kkZfjr dhft, % 

  jkf’k 

(i) fu;kZrd ds dkj[kkus esa e’khu dh ykxr 20]000 MkWyj 

(ii) fu;kZrd ds dkj[kkus ls canjxkg rd ynku 
ds fy, ifjogu ‘kqYd 1]000 MkWyj 

(iii) tgkt esa e’khu dks yksM djus ds fy, fn;k 
tkus okyk gS.Mfyax pktZ 100 MkWyj 

(iv) vk;krd }kjk Ø; deh’ku dk Hkqxrku 100 MkWyj 

(v) fu;kZr djus okys ns’k ls Hkkjr rd eky 
<qykbZ ‘kqYd 2]000 MkWyj 

(vi) Hkqxrku fd;k x;k okLrfod chek ‘kqYd irk 
yxkus ;ksX; ugha gSA  

(vii) vesfjdk esa fMtkbu ,oa bathfu;fjax dk;Z ds 
fy, pktZ 5]000 MkWyj 

(viii) vk;krd ds LFkku ij mrkjuk ,oa l¡Hkkyus 
ds fy, Hkqxrku fd;k x;k ‘kqYd ` 1]500  

(ix) eqEcbZ ls dksphu canxkg rd ifjogu ‘kqYd ` 25]000 

(x) fofue; nj ij fopkj fd;k tkuk gS 1 MkWyj   ` 60 
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An importer from Cochin imports goods from an exporter in 

America. The vesel carrying the goods reaches Mumbai port 

first and from there goods are transshipped to Cochin port. 

Determine the assessable value of the imported goods under 

the Customs Act, 1962 from the following particulars : 

  Amount 

(i) Cost of the machine at the factory of 
the exporter 20,000 Dollars 

(ii) Transport charges from the factory 
of exporter to the port for shipment. 1,000 Dollars 

(iii) Handling charges paid for loading 
the machine in the ship 100 Dollars 

(iv) Buying commission paid by the 
importer 100 Dollars 

(v) Freight charges from exporting 
country to India 2,000 Dollars 

(vi) Actual insurance charges paid are 
not ascertainable  

(vii) Charges for design and engineering 
work undertaken for the machine in 
America 5,000 Dollars 

(viii) Unloading and handling charges 
paid at the price of importation ` 1]500 

(ix) Transport charges from Mumbai to 
Cochin port ` 25]000 

(x) Exchange rate to be considered : 1 Dollar = ` 60 
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4- fu;kZr dh izfØ;k dks le>kb, rFkk lhek ‘kqYd vf/kfu;e] 1+962 ds 

vUrxZr fu;kZr fudklh ds fofHkUu pj.kksa dk o.kZu dhft,A 

Explain the process of export and describe the various steps 

of export clearance under Customs Act, 1962. 

vFkok 

(Or) 

dsUnzh; lhek ‘kqYd ls lEcfU/kr vf/kdkfj;ksa ds vf/kdkj ,oa ‘kfDr;ksa 

dk o.kZu dhft,A 

Describe the rights and powers of the authorities related to 

Central Customs Duty. 

 

 

 

 

 

 

 

 

 

 

 

 

D–130   


